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estimate
to use clues to make a guess, 
with reasons

An estimate does not have to be exactly right.

0 100 200 300

C D E FA B

400 500

I estimate that B is 210  
because B is closer to 
200 than 300.

I estimate F is 475  
because F is just 
less than 500.
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exchange
to swap a number for another of equal 
value when adding or subtracting
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15

I have exchanged 10 ones 
for 1 ten in this addition.

I exchanged a ten for 10 
ones in this subtraction.
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multiple 
All the numbers in a times-table 
are multiples.

32240 8 16

+ 8 + 8 + 8 + 8

These are multiples of 8. I could 
keep counting in 8s to find more.

I am counting in 4s. These are 
multiples of 4. I could keep going.

1 2 3 4 5 6 7 8 9 10

11 12 13 14 15 16 17 18 19 20

21 22 23 24 25 26 27 28 29 30

31 32 33 34 35 36 37 38 39 40

41 42 43 44 45 46 47 48 49 50

51 52 53 54 55 56 57 58 59 60

61 62 63 64 65 66 67 68 69 70

71 72 73 74 75 76 77 78 79 80

81 82 83 84 85 86 87 88 89 90

91 92 93 94 95 96 97 98 99 100
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remainder
what is left over after a division

13 ÷ 4 = 3 remainder 1

18 ÷ 4 = 4 r 2

I divided 13 by 4. 
There was 1 left 
over at the end. 
The remainder is 1.

The remainder can 
be more than 1. But it 
cannot be more than the 
number you divide by.
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perimeter
the total length of  
the sides of a shape

2 m

2 m

2 
m

2 m

2 + 2 + 2 + 2 = 8 
The perimeter 
of the square 
is 8 m.

30 m

30 m

5 m
10 m

15 m

5 m
10 m

5 m

Perimeter is the length all 
the way around a shape. 
I will add up all the lengths 
until I get back to the start.
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equivalent 
fractions
fractions that are of equal size

1
2 = 2

4 and 1
2  = 3
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I work out equivalent 
fractions by 
multiplying or dividing 
the numerator and 
denominator by the 
same number.

I can see equivalent 
fractions on a fraction wall.
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acute and 
obtuse
An acute angle is less than a 
right angle.  
An obtuse angle is greater than a 
right angle.

The roof has a right angle.

The roof has an acute angle.

The angle is less
than a quarter
turn or right angle.

The roof has an obtuse angle.

I thought about turns.

I used 
an angle 
measurer 
to check 
the angles



Power Maths © Pearson 2019. Copying permitted for purchasing institution only.

millimetre
There are 10 millimetres (mm) 
in 1 centimetre.

0 1 2 3 4 5 6 7 8 9 10

0 10 20 30 40 50 60 70 80 90 100

cm cm

mm mm

1 millimetre is a 
very small length. 
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tenths
There are 10 tenths in 1 whole. 

One tenth written as a fraction is 1
10

.

10 1
10

2
10
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10
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10

7
10
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10

9
10

= 1 whole

One counter on the ten 
frame represents 1

10 of 
the stack of 10 counters.


